FR2FE REWERSEE RSN

REMRX - REMREFRE LI —ORERE

AR CHIRAE (t)

HE | AEMK | BHK | dETEE
— g HA 5 24 (%)

HETZ, THETIRE | THETURE | £EFINE
X B 5,792 294 6, 522 1,394 14,002 63.3
A X 4,300 0 5,138 1,022 10, 460 47.3
% BRHT 438 0 542 97 1,077 4.9
AT AET 164 0 164 33 361 1.6
£ FNET 293 0 24 113 430 1.9
FFOET 597 0 557 103 1,257 5.7
& =T 294 97 26 417 1.9
% 4t Hr 254 0 678 62 994 4.5
EXEH 4,592 1,924 617 7,133 32.2
& &t 6, 046 4,886 9,124 2,073 22,129  100.0

TRCHBA=E (t)

HE | AR | EHK | dETEE
— AR EA i 2& (%)

THHET 4 MHETURER | HETURGE | RENE
X B M 886 35 953 621 2, 495 72.8
KEHK 543 0 686 427 1, 656 48.3
A BEET 86 0 101 41 228 6.7
1T AET 37 0 21 23 81 2.4
£ FOET 61 0 1 49 111 3.2
F FOET 159 0 134 61 354 10. 3
& =T 0 35 10 20 65 1.9
% 4t Hr 182 0 132 15 329 9.6
EXEH 0 320 108 175 603 17.6
& & 1,068 355 1,193 811 3,421 100.0




BRDMAZE

(t)

HE | AEHK | BHK | ETEE
—hgiFiA 5 24 (%)
FHET& THETINEE | THETURE | £EINE
X B 2, 643 86 150 232 3,111 77.2
A R 1,865 0 110 155 2,130 52. 9
HERET 212 0 4 13 229 5.7
{HAET 89 0 0 7 96 2.4
7 FOET 106 0 13 23 142 3.5
L FET 371 0 23 20 414 10.3
=) 0 86 0 14 100 2.4
T 4t Hy 306 0 13 5 324 8.0
LREH 0 417 12 166 595 14.8
& &t 2,949 503 175 403| 4,030  100.0
BERALER (2 (% 5 BB IR AT (t)
—— [ #EmR T 3
BEEIRLIE 8 17,071 7,389 24, 460
B4 RIS B 1,722 1,002 2,724
BRI ER (2 (R B BEHEET (t)
KiEHX B X B
R LIRS 2,759 668 3,427
1B oM B 549 334 883
TR CH IR 1% B EE#ET (t)
AE R B X ES
= O OB 585 170 755
SRS (FM) 12,017 3,783 15, 800
ERYWIEIZ % 5 EHET (t)
—— | #EmK K 3
ZERAE 3,335 695 4,030
= i OB 1,987 532 2,519
FEHIE4E (FM) 21, 049 5, 094 26, 143

2




